
 

 

dezasseis   ________   _________           ___ dezena + ___ unidades= 16 

                                                                             

                                                                            

 

 

Resolve: 

     8 + 3 =___  9 + 4 =___   7 + 5 =___   12 – 7 = ___  

    10 + 2 = ___   8 + 8 = ___          14 – 4 =  ___  16 – 5 = ___ 

     16 + 0 = ___  12 – 5 = ___  15 – 5 = ___  14 + 2 = ___  

 

 



 

dezassete   ________   _________         ___ dezena + ___ unidades= 17 

                                                                        

                                                                         

                                                                               

 

Resolve: 

     8 + 3 =___  9 + 4 =___            7 + 5 =___             17 – 7 = ___  

    10 + 2 = ___   8 + 8 = ___          14 – 4 =  ___  16 – 5 = ___ 

     16 + 1 = ___  12 – 5 = ___  15 – 5 = ___  14 - 2 = ___  

Completa a sequência numérica: 

 

Completa de modo a obteres a quantidade indicada. 

 

 

 

 

 

 

 

 

0  2      8   11       18 19 20 

12 + ______ 7 + ______ 

17 
13 + _____ 10 + ______ 

 

11 + _____ 16 + ______ 



 

 

dezoito  __________    __________          ___ dezena + ___ unidades= 18 

                                                                         

                                                                         

                                                                    

 

Resolve: 

     10 + 3 =___  10 + 4 =___            9 + 5 =___             18 – 10 = ___  

    15 + 2 = ___   9 + 9 = ___           12 – 4 =  ___  16 – 5 = ___ 

     17 + 1 = ___  18 – 5 = ___  15 – 5 = ___  13 - 2 = ___  

Completa a sequência numérica: 

 

Completa de modo a obteres a quantidade indicada. 

 

 

 

 

 

 

 

0  2      8   11        19 20 

14 + ______ 8 + ______ 

18 
15 + _____ 10 + ______ 

 

16 + _____ 17 + ______ 


